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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 5.01 62.44 | TS | 000 ~ 501|204 10.94 Zzh s 1.00 | 5.00 ~ 6.69 6244 | =nS | 6,00 ~ 6.69 | 2.04 10.94
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.69 5848 | =S | 000 ~ 469 2.06 11.00 ZzhLs 1.00 | 5.00 ~ 6.23 5848 | =hLS | 5.00 ~ 6.23 | 2.06 11.00
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — -~ — — |3mZE#BZ B - ~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.34 79.71 | =Y | 000 ~ 0.00)|1.70 9.10 ZzhnLst 1.00 | 5.00 ~ 742 79.71 | #nS | 6.00 ~ 742|170 9.10
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — - ~ — — |3mZE#BZ B - ~ — — —
st 1.00 | 0.00 ~ 6.567 82.88 | =nhst | 0oo ~ 657|174 9.32 ZzhLs 1.00 | 5.00 ~ 7.87 82.88 | =S | 6,00 ~ 7.87|1.74 9.32
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¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
zhLst 1.00 | 0.00 ~ 743 94.86 | =S | 000 ~ 743 1.93 9.76 Zh st 1.00 | 6,00 ~ 1136 94.86 | =N | 5,00 ~ 11.36| 1.93 9.76
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g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — - ~ — — |3mZE#BZ B - ~ — — —
ZhLst 1.00 | 0.00 ~ 7.69 98.61 | Fnst | 000 ~ 769|193 9.76 zhs 1.00 | 6,00 ~ 1231 98.61 | NS | 5,00 ~ 1231|1.93 9.76
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